Algebra 2  







Name: ________________________
Unit 6, Day 8







Date: ______________ Period: ____
Property of Equality for Logarithmic Functions

	Property of Equality for Logarithmic Functions
	If b is a positive number other than 1, then ___________________________ if and only if _________.


	Steps:



	Example #1:   
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	Example #2:   
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Practice #1:  Solve for the variable.

	a)  
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	b)  
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Extraneous Solutions:  When solving problems with logarithms, we must ________________ check our answers because not all answers may be solutions.
	Example #3:  Solve 
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	Check:




It appeared that we have ________ solutions.  However, from the definition of a logarithm, not only must the ___________ be positive, but the __________________ must also be positive.

Therefore, _______ is not a solution, but why???

To verify our conclusion, take __________ and set it equal to a variable, y, and rewrite it in exponential form.  

Therefore, expressions of this type are _________________.

Practice #2:  Solve for x.  Be sure to CHECK your answers.
	a)  
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Commit the following to memory to help you whenever solutions are checked:
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Mixed Practice:  
1.  Solve for x.  Be sure to CHECK your answers.

	a)  
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	c)  
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	d)  
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	f)  
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	g)  
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	2.  Express in exponential form.

	a)  
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	3.  Express in logarithmic form.

	a)  
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	4.  Evaluate each expression.

	a)  
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	5.  Solve for x.

	a)  
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	6.  Evaluate each expression.

	a)  
[image: image39.wmf]4

6

6

log



	b)  
[image: image40.wmf](

)

1

9

9

log

+

n
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	7.  Solve and graph each absolute inequality.

	a)  
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	8.  Determine the inverse for each function below.   Then graph both functions and the line of reflection.

	a)  
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(for domain –∞ < x ≤ –4)

(Be careful!  Notice the restricted domain!!!)



	4.  
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